ARAEBEHEEFRIFEAZV K HkEREAS
MINOURK UniversaIKBicycIe Stand DSX'ZM instructions manual

(ver.1.0 2018/10)

{EEF Q@BEHEDEHREBHDFITTEE LIAGTZIFT.
BEEABENEESHR2 Y F T,

@ Simply place your bike wheel between
the uprights to hold the bike in a vertical
position. Stand automatically adjusts to
your tire width.

st X/ Applicable Size

RA=)V 1 20~294VF
AV 3AVFET RE-I%H) /SAVFET (21v%H)

Wheel Size : 20 - 29 inch
Tire Width : up to 3-inch (by spoke) / up to 5-inch (by tire)

B ()N

Small Frame M8x25 RJL +

M8x25 Bolt

RBfsF v v 7
Plastic Cap

(KA. Fig. A)

B (K

Large Frame
SRR | CEEAML 1 R B

Warranty Period : 1 year

2L I3 £ T A R ?

THBIREE N, R B Rk
Visit our web site for the latest Schematics

information.

#0+3T1CTH ., How To Assemble

(X B Fig.B)

WELGTE: 6 ZURAELYF (RBLEEA)
Required Tools : 6mm Hex Wrench (not included)

3

7E7B’

Fe (/) =50, #(K) % INFITRBHIE v v T @ L

BifliEF v v T2k E

i LCfida, M8x25 Fb 1 NFER MR DI &9 s zifliic,
ZHL. WIS M8 F v k% Vo EVICRLABET, ARSI L& T,

BRI A7 M8 F v k72
FALET,

Put the plastic caps to the spring.
Insert the M8 nut into the hex
hole on the opposite side cap.

DIARET,

Fw R ERAIUCHA L CRIE
Frv I BTy RLYFDLII
LTV, AL YFTHIOET,

Connect the small and large frames
with the M8x25 bolt, and screw the
M8 nut to the bolt.

Tighten firmly by the 6mm hex
wrench while using the plastic cap (B4 C.Fig.O) (KD Fig.D) (K E . Fig.E)

as a socket wrench.

Remove the plastic cap.
Screw the spring into the
bolt until it touches the nut.



L e SERHIIZ £ () &R (1) 2D (T I TSR T
P BHIEF v v TOTRHE 13mm 2/SF 2B B3 L 750 £ 9

Install another set of small and large frames on the opposite
side.

You can use the flat area on the plastic cap for attaching the
13mm spanner when tighten.

PV ME/INRDOAEZEF Y ML YVICL TRLCAAT
BNET, TD/ediE RCIAHTEBLNANTY,
INZDEELTLED/RYLET, FREL TS,

This product uses the inside of the spring as a nut.
Do not try to overtighten. The spring may be
damaged or the bolt will come off.

(B F Fig.F)

DSX-2M &, # (K) Z FICLTIRICEZE T, (XG)

Place the DSX-2M on the floor with the larger frame contacting
the ground. (Fig. G)

BN DFIEHEBLSERE
(K H) Tld. +065LEM%%E
R TELWICOHFETT,

Do not set the small frame
as the base.

Doing so causes an im-
balance and your bike will
not be stable while in the
stand. (Fig. H)

(® G/ Fig.G) (®H Fig.H)

PEDINC 35 2 /337258 LIBiEF v v 7' Bic, #bcdliiz FA L X9, (K1)
HRDOEL TR (/N) DT TV E, HilizfHA AL L THIEHZHV . EEET (K ]). [RARE : 10kg £T]

Slowly place the wheel on the plastic caps between the frames gently. (Fig. I)
The wheel's own weight will close the small frames to support the bike vertically (Fig. J). [Max Load: 10 kgs]

BEWEETI BRI DGHBNOBNTTAELWNTLLEEL, NRDSHRIL M OKRITTLENET,
ELIKITTLE DS, FDEFICES, AV FEFHDHDEL T IEELN,

Do not drop the wheel into the frames with force. Too much force may cause the bolt to come
out from the spring. Do not leave in this condition and tighten the bolt again if it occurs.

2FXBETIIEE L TRIFT B EDTEET BA. TDIED—EBICTHISFAIGEL KA — /Lo FELE T,
RAVIED3 4 > FEBABDE BUIFIAR—TIFED T XA VDHTEZBLDICHEIFT,

Allow the small frame to contact as many spokes as possible for maximum stability.
Contact with three or more spokes is essential to overall stability (Fig. A). Some fewer spoke
wheels are not compatible.

é TEBRITZDIR—ODK (/) ICEL TRIFENS L D IcEHZEE L THEL TS TV (EA),

In case of over 3-inch tire width, it
~ becomes impossible to reach the

q spoke and will be supported by tire

only.

®1 ./ Fig. ! (®J / Fig.J)
Roapes | Fsd ZE MINOURA JAPAN
T 503-2305 IR\ BT 1197-1 1197-1 Godo, Anpachi, Gifu 503-2305 Japan
Contact Phone: (0584) 27-3131/ Fax: (0584) 27-7505 Web: www.minoura.jp / Mail: minoura@minoura.jp

Web: www.minoura.jp / Mail: infodesk@minoura.jp Made in Japan



